(8)

(e) State and prove sufficient conditions
for consistency.

SR MR e SER TETE S IR
2RI 34 | :

(/i Explain AOV in econometrics.
TfRifes AOV I 341 |
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for the questions

Answer either in English or in Assamese

UNIT—1

Colo—>

1. Answer the following as directed : 1x10=10
woTe TIIET FTePes 8T for «

(a) State the relation between Statistic
and Parameter in case of unbi-
asedness.

TRTER Chae dforefE WE AR e
oo ey 91

(b) Define chance causes of variation
e IR SRONR A i |
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(2)

(c) In SQC, CL stands for
SQCS CL Iiq
(i) Central Line
@R @
(i) Control Limit

g |

(iii) Counted Line
KRCINCEI

(Choose the correct .optioh)

(om T IR Thien)

(d) State the validity of the following
statement :

worR SRCBI STorel AR I

+145-8E is a real constant.
+145. 8E bl I &3 |

(e) Consumer’s risk is referred to as
error. '

 (Fill in the blank)
(03 31 o 1)

8A/806 ( Continued )

(3)

estimator of

i) Sémple mean is
population mean.
fem 1y ST Y 3 |

(Fill in the blank)
(1T 31 =T )

(g) Pareto diagram is used in SQC.
CoifRCB1 foF SQCS I I |
: ‘ (Write True or False)

o1 & i o)

(h) Write FORTRAN éxpressions
equivalent to the following mathe-
matical expression :

X2 /y+2)

VX2 /wy+2 -3 FORTRAN pen M
o
(i) Obtain the final value of K in the
following program :
-y A=3:1+2%4.6
-“i'f A=2%xA+4
her, ' K=A
| o (ARG K- FOr8 A e 0 :
A=3.1+42%4-6
A=2*A+4
K=A
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(4)

() All OLS estimators are linear
estimators.

FFCAl OLS TFad (IR HFers |

(Write True or False)
(o1 ¢ ey fora)

2. Answer the following questions in brief :

2x5=10

o] ARIRE 59 T o
{a) What is scalar variable?
cFa vor WA R 2

(b) Give two situations in which C-charts
are used.

C-foa R o1 +RRRT Baw w1 1
(c) Define efficiency.
wFo K@ o |
(d) What is linear regression model?
AR ST =¥ e R 2

() What do you mean by quality of a
product?

Teonfre 399 @1 e R g 2

( Continued )

(5)
UNIT—2
CNB—

3. Answer any four of the following
questions : o 5x4=20
wod R @ oif¥ot o Tag o :

(a) What is econometrics? Mention its
three limitations.
weffifs wew B oo TR e FREer
STEY 91|

(b) Give the reason for using 36 limits in
control charts of SQC.
SQCT fgd e 36 TR T T
e forin |

(c) Wﬁte briefly on software and

" hardware of a computer.

FPABHRT  software ¥ hardware-g
R vyt o :

(d) If T is an unbiased estimator of 6,
show that T2 is a biased estimator
of 62.
R T 6-7 SO WFAT W, (OB (TS
@ T2 92-3 oo wFee |
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(6)

(e) Describe the construction of control
charts for mean and range from
appropriate data when standards are
given and standards are not given.

TRE OIR A9 TN (standard) T =
Rt wwEge W0 W IRT Raga-Bg
A (S I, N0

UNIT—3
() |-
4. Answer any four of the foliowing
questions : 10x4=40
oo R e st erew e o

(a) From a sample of 20 pairs of obser-
vations of X and Y, the following
results were obtained :

X WF Y 20 @R ¥ II o1 fomn
SYPTR CIRT T '
X =228, LY =3121, (X - X){Y -Y) =38927,
(X - X)? =3204 and 3y - ¥)? = 9837
(i) Obtain the two lines of regression.

WO SRR G321 A7 341 |
(i) Find the value of Y for X =20.

M X =20 W, (=8 v-3 T Ry 37 |

8A/806 ( Continued )

(b)

()

(d)

8A/806

(7))

Define sufficiency. If x;, x5, x,
are random sample with p.d.f.
flx, 6)= ex-9), B<x <o, —0<B<es,
then obtain sufficient statistic for 6.
opfierors e fran | ey, Agivee Afewf
Xy, Xg, X, ¥ p.df, flx ) =g (x-9),
0<x<oo, —0<0<oo, (9T 6-3 sRflerst
oifredf fRefy 11
Explain what you mean by statistical
quality control. Distinguish between
process and product control.
RIS @ R IFeE B o, am
I | e AR g o Senfre 39
fEEeR TR PR T =0 |
Write four rules to be followed in
writing Do Loops. Write a program
that reads an integer N and prints the
sum of the following :
Do Loop IR IS e FRI=amn sifot
o Sy 91 1 SR N R wF ToR
ISPIIE, 21 31 499 o1 caaee e
1+2+3+4+---+ N
12422+32+424...4 N2
13+23+3%3+434+...4 N3
2+4+6+8+:--+2N
143+5+7+---+2N -1
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